

11/03/2022 08:00 AM | Drive to Vegas 11/03/2022 04:00 PM | Install 11/04/2022 08:00 AM | Install Day 2 11/05/2022 09:00 AM | Strike 11/06/2022 09:00 AM | Drive to LA P0:

Shipping Address: Las Vegas - Resorts World 3000 S Las Vegas Blvd, Las Vegas, NV 89109

Rooftop 6th floor - Rose Rooftop

Loading Dock: B2 using Sammy Davis Jr Drive to access the loading dock at resorts world

Event is on the 6th FLoor use lift elevator number is F209

On site contact: Fayaz (714) 348-5913

Bloom Box Designs 930 West 16th Street Suite A2 Costa Mesa, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
General					
Alder Commonwell professional profession 2001	Chandelier - Nice - Pendant Brass And Crystal client's rigging team to hang chandleliers	5	\$950.00	Т	\$4,750.00
			Total General		\$4,750.00
Lounge Seating					
	Sofas - Berlin - Serpentine (3 Piece Set)	4	\$450.00	Т	\$1,800.00
P	Sofas - Beirut - Curvy Ivory Velvet include existing ivory pillows	4	\$400.00	Т	\$1,600.00
	Club & Lounge Chairs - Beirut - Ivory Velvet	8	\$250.00	Т	\$2,000.00
	Club & Lounge Chairs - Buenos Aires - Accent Chairs White	6	\$300.00	Т	\$1,800.00
<b>***</b>	Club & Lounge Chairs - Hollywood - Shag Accent Chair	4	\$200.00	Т	\$800.00
	Ottomans - Hollywood - Off White W/ Brass Base	12	\$40.00	Т	\$480.00

	Qtty	Price		Total
Ottomans - Hollywood - White W/ Brass Base	12	\$40.00	T	\$480.00
Coffee Tables - Monaco - Irregular Brass	4	\$275.00	T	\$1,100.00
Accent Table - Frankfurt - CLear Glass Top W/ Brass Frame NO SMOKEY GLASS, USE CLEAR	6	\$100.00	Т	\$600.00
Coffee Tables - Frankfurt - Clear Glass Top W/ Gold Frame NO SMOKEY GLASS, USE CLEAR	6	\$275.00	T	\$1,650.00
Coffee Tables - Milan - Glass Top W/ Gold Frame	4	\$275.00	T	\$1,100.00
Accent Table - Hollywood - Glass Top W/ Zig Zag Gold Frame	6	\$90.00	Т	\$540.00
Accent Table - Milan - Glass Top W/ Gold Frame	4	\$110.00	Т	\$440.00
Accent Table - Nice - Mirror & Gold Frame	2	\$90.00	T	\$180.00
Accent Pillows off white and white, gold piping	30	\$30.00	Т	\$900.00
		Total Lounge Seating		\$15,470.00
Garden Gazebos & Cabanas - Half Round Frame Cabana painted gold	6	\$2,000.00	Т	\$12,000.00
Booths - Nice - White Velvet 3 Pc Set	6	\$550.00	Т	\$3,300.00
Dining Table - Beirut - Round Chrome 60" GOLD BASE	6	\$400.00	T	\$2,400.00
	Coffee Tables - Monaco - Irregular Brass  Accent Table - Frankfurt - CLear Glass Top W/ Brass Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Frankfurt - Clear Glass Top W/ Gold Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Milan - Glass Top W/ Gold Frame  Accent Table - Hollywood - Glass Top W/ Zig Zag Gold Frame  Accent Table - Milan - Glass Top W/ Gold Frame  Accent Table - Nice - Mirror & Gold Frame  Accent Table - Nice - Mirror & Gold Frame  Garden Gazebos & Cabanas - Half Round Frame Cabana painted gold  Booths - Nice - White Velvet 3 Pc Set	Ottomans - Hollywood - White W/ Brass Base 12  Coffee Tables - Monaco - Irregular Brass 4  Accent Table - Frankfurt - CLear Glass Top W/ Brass Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Frankfurt - Clear Glass Top W/ Gold Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Milan - Glass Top W/ Gold Frame 4  Accent Table - Hollywood - Glass Top W/ Zig Zag Gold Frame 4  Accent Table - Milan - Glass Top W/ Gold Frame 2  Accent Table - Nice - Mirror & Gold Frame 2  Accent Pillows 30 off white and white, gold piping 30  Garden Gazebos & Cabanas - Half Round Frame Cabana painted gold 6  Booths - Nice - White Velvet 3 Pc Set 6	Ottomans - Hollywood - White W/ Brass Base 12 \$40.00  Coffee Tables - Monaco - Irregular Brass 4 \$275.00  Accent Table - Frankfurt - CLear Glass Top W/ Brass 6 \$100.00  Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Frankfurt - Clear Glass Top W/ Gold 6 \$275.00  Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Milan - Glass Top W/ Gold Frame 4 \$275.00  Accent Table - Hollywood - Glass Top W/ Zig Zag Gold 6 \$90.00  Accent Table - Milan - Glass Top W/ Gold Frame 4 \$110.00  Accent Table - Nice - Mirror & Gold Frame 2 \$90.00  Accent Table - Nice - Mirror & Gold Frame 2 \$90.00  Garden Gazebos & Cabanas - Half Round Frame Cabana painted gold  Booths - Nice - White Velvet 3 Pc Set 6 \$550.00  Dining Table - Beirut - Round Chrome 60" 6 \$400.00	Ottomans - Hollywood - White W/ Brass Base 12 \$40.00 T  Coffee Tables - Monaco - Irregular Brass 4 \$275.00 T  Accent Table - Frankfurt - CLear Glass Top W/ Brass 6 \$100.00 T  Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Frankfurt - Clear Glass Top W/ Gold 6 \$275.00 T  Frame NO SMOKEY GLASS, USE CLEAR  Coffee Tables - Milan - Glass Top W/ Gold Frame 4 \$275.00 T  Accent Table - Hollywood - Glass Top W/ Zig Zag Gold 6 \$90.00 T  Accent Table - Milan - Glass Top W/ Gold Frame 4 \$110.00 T  Accent Table - Nice - Mirror & Gold Frame 2 \$90.00 T  Accent Table - Nice - Mirror & Gold Frame 2 \$90.00 T  Garden Gazebos & Cabanas - Half Round Frame Cabana painted gold 5 \$2,000.00 T  Booths - Nice - White Velvet 3 Pc Set 6 \$550.00 T

Description		Qtty	Price		Total
W W	Dining Table - Beirut - Serpentine Dining Table Base Only Gold  Washington Dining Table - Gold Base  gold base	6	\$0.00	Т	\$0.00
	Bars - Las Vegas - Multi Mirror Gold	4	\$720.00	Т	\$2,880.00
	Dining Chairs - Washington - Gold Frame off white cushions	30	\$20.00	T	\$600.00
	Barback - Tokyo - Straight Basic 6' - Metal gold	2	\$300.00	T	\$600.00
The second secon	Communal Tables - Nice - Mirror Top W/ Gold Frame	10	\$250.00	Т	\$2,500.00
			Total Furnitu	ire	\$24,280.00
Pullsheet					
			Total Pullshe	et	\$0.00
Services					
	November 3rd - Driving to Las Vegas	8	\$350.00		\$2,800.00
	November 4th - Install	8	\$400.00		\$3,200.00
	November 5th - Strike Event	8	\$400.00		\$3,200.00
	November 6th Drive Back to LA	8	\$350.00		\$2,800.00
	Supervisor Fee: Supervisor On site	1	\$600.00		\$600.00
	Truck + Gas Surcharge From Los Angeles to Las Vegas	4	\$1,100.00	Т	\$4,400.00
	Hotel Rooms: 4 nights, 4 rooms	1	\$2,800.00		\$2,800.00
	Per Diem	8	\$280.00		\$2,240.00
	Misc: Supplies, Materials, Packing, Etc.	1	\$300.00		\$300.00
Please make checks payable to Revelry, Inc.		Total Produc		\$44,500.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full		Total Labor/Services/Misc: Taxes (tax excempt):			\$22,340.00 \$0.00
Please ready the contract and sign it		•	Discoun	•	(\$3,903.00)
Notes			Tot		\$62,937.00
			Paymen	ts:	(\$62,937.00)

Balance:

\$0.00